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A2 RA - F- . O9(3H) - ARAY - BAS O &kt I Eley Hms2

83,001,631 79,616,877 3,384,754

= 69,767,800 69,693,800 74,000

p 197,000 197,000 0

< 13,036,831 9,726,077 3,310,754

2,673,304 883,480 1,789,824

= 40,000 0 40,000

= 2,633,304 883,480 1,749,824

2,673,304 883,480 1,789,824

= 40,000 0 40,000

= 2,633,304 883,480 1,749,824

LAAS 36,000 0 36,000

307 212 36,000 0 36,000

02 BIZIHAAILBE 36,000 0 36,000
OLLAE2SH HE L BRARLASES

Al&t 36,000 0 36,000

SXHES | 30,000 0 30,000

403 XEXISHI S XH2 0| & 30,000 0 30,000

01 REXIHHXHEEE 30,000 0 30,000

OZAES YRHEE R BR| N 30,000 0 30,000

ZZA=S Jpleleea (2D) 1,557,824 0 1,557,824

403 RXISHHIS XH2 0 & 1,557,824 0 1,557,824

01 RRISHHI A2 2 X 1,557,824 0 1,557,824

ozzA=E Jelelzuy 1,557,824 0 1,557,824

XSHZIFME SRS (2D) 28,000 0 28,000

= 28,000 0 28,000

408 XEXISHI S XH2 01 & 28,000 0 28,000

= 28,000 0 28,000

01 RXISHHX=EX 28,000 0 28,000

OXHAZQTHE L 2Y 28,000 0 28,000

= 28,000 0 28,000

XHZIFME SRS (2D)(HE) 12,000 0 12,000

= 12,000 0 12,000

201 Yere Y| 12,000 0 12,000

= 12,000 0 12,000

01 Al 22|t 12,000 0 12,000

OXHASQIFHHE LS (ZE) 12,000 0 12,000

= 12,000 0 12,000

S0 HEE Y XY M40 2E XA (2D) 126,000 0 126,000

403 REXISHHIS XH= 0| & 126,000 0 126,000

01 RXISHHX=EX 126,000 0 126,000

OB40 WEHE L MeY 40t 22 (A 126,000 0 126,000

N R-EIESEIEDN, 80,281,3% 78,698,3% 1,583,000




A= AEUS= FA A=
4 FHANYAHILFHSA S
el FEEHAA (SH9 H2)
A= 2N - BB S9(S) - HISAY - BES il v ol H o CImE==

= 69,727,800 69,693,800 34,000
Il 197,000 197,000 0
< 10,356,596 8,807,5% 1,549,000
T2 80,084,3% 78,501,396 1,583,000
= 69,727,800 69,693,800 34,000
= 10,356,596 8,807,5% 1,549,000
HIZ&AHM HF=Xt OIAHHIRIR(=12) 68,000 0 68,000
= 34,000 0 34,000
= 34,000 0 34,000
308 ARISHMSOIE 68,000 0 68,000
= 34,000 0 34,000
LS 34,000 0 34,000
01 MASHHBLExRS 68,000 0 68,000
OBIZYHXN H=Xt OIAHIXIE 68,000 0 68,000
= 34,000 0 34,000
< 34,000 0 34,000
UEFSF FHM= WSOIA X2 1,515,000 0 1,515,000
201 Zer= | 15,000 0 15,000
01 At 2teltl 15,000 0 15,000
OMERR FAHN= HWE0IA XY 8 15,000 0 15,000
308 XXM SOl 1,500,000 0 1,500,000
01 IXHMBdEx= 1,500,000 0 1,500,000
OUIERR FHI= HE0IAt X2 1,500,000 0 1,500,000
Wees (A=) 11,930 0 11,930
L=FSONE 11,930 0 11,930
ARE 2 tetg 11,930 0 11,930
802 gtet=0IEt 11,930 0 11,930
01 =nEx3te=s 11,930 0 11,930
O'20d szA5= Jelc|2Ed 11,930 0 11,930




